MULTIPLIER ET DIVISER PAR 4 : 2 METHODES.

          1ère méthode : j’applique la table par 4.

                                     800             60 

           a)   215 x 4 = (200 x 4) + (15 x 4) =  860 
                                          200            6

           b)  824 : 4 = (800 : 4) + (24 : 4)= 206

           2ème méthode : j’applique 2 fois la table par 2
                                    430

           a)  215 x 4 = (215 x 2) x 2 = 860 
                                   412

           b)  824 : 4 = (824 : 2) : 2 = 206
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